A complex column having one sidestream W1 is operating at total reflux. The feed composition, relative volatilities, and other specifications for this column are as follow

	Component
	Xi
	αi
	Other specifications

	1
	1/3
	1
	N=5, p=3, total condenser, F=100 mol/h, and total reflux operation

	2
	1/3
	2
	

	3
	1/3
	3
	


(a) Compute the values of bi/di, w1i/di, D, and W1 when it is specified that bb/db=16 and w1b/db=10 

(b) On the basis of the following sets of bi/di's and w1i/di's at D=23.0808 and W1=46.9078, compute the bi/di's and w1i/di's at D=34.6522 and W1=38.2494 by use of the θ method of convergence for complex columns.

	Component
	Xi
	αi
	(bi/di)1
	(w1i/di)1
	Other specifications

	1
	1/3
	1
	16
	10
	N=5, p=3, total condenser, F=100 mol/h, and total reflux operation

	2
	1/3
	2
	1
	2.5000
	

	3
	1/3
	3
	0.1975
	1.1111
	


